
Garmin Sat Nav Mount
BMW R 1200 / 1250 GS

Installation Instructions



Installation Instructions

1 x Main Plate A

1 x Sub Plate B

2 x M4 x 5mm Black Button Head Bolts C

2 x P-clips (No.1)  D

2 x P-clips (No.2) E

2 x P-clips (No.3) F

2 x P-clips (No.4) G

2 x Rubber Bung (TFT Screens Only) H

3 x M5 x 12mm Black Button head BoltsI

4 x M4 x 10mm Black Button head BoltsJ

4 x M6 x 16mm Caphead BoltK



1Installation Instructions



2Installation Instructions



3Installation Instructions

Repeat
Both Sides



4Installation Instructions

Repeat
Both Sides



5Installation Instructions



6Installation Instructions

Repeat
Both Sides



7Installation Instructions

Repeat
Both Sides



8Installation Instructions

Repeat
Both Sides



9Installation Instructions

Repeat
Both Sides



10Installation Instructions

H



11Installation Instructions



12Installation Instructions



12Installation Instructions

K

Repeat
Both Sides



B

13Installation Instructions



14Installation Instructions 1414Installation InstructionsInstallation Instructions

J



15Installation Instructions

I
151515



16Installation Instructions

C F



Installation Instructions

Reverse Stages
9 - 1



www.evotech-performance.com


